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Instructions -

(C)

(A)

1)
ii)

1)

v)

All questions are compulsory. .

This question paper has two sections ‘A’ and B’

Section ‘A’ contains 20 multiple choice type questions of | Ma,
each that has to be answered on OMR Answer Sheet .b}’ dar kt‘mnE
completely the correct circle with blue or black ballpoint pen.
After giving answer on OMR Answer Sheet do not cut or use eraser,

whitener etc _
Section ‘B’ contains descriptive type questions of 50 S.

v)

vi) Total 5 questions are there in this section.

vii) In the beginning of each question it has been meOJncd how many
parts of it are to be attempted.

viii} Marks allotted to each question are menti gainst it,

ix) Start from the first question and go up ast question. Do not
waste your time on the question yo ot solve. '

x) If you need place for rough wor x it on the left page of your
answer book and cross ( x ) th . Do not write any solution on
that page.

xi) Do not rub off the lines ¢ @Jcted in a question of construction.
Do write the steps of co, *ction in brief, if asked.

xii) Draw neat and corr 1gure in solution of a question wherever it
is necessary, ott In its absence the solution will be treated
incomplete and '

e qug - H
,\< > Section - A
% ( TFfawedia wy )
Q ( Multiple Choice Type Questions )
x* +5x+2 % AH B ATHA M
5 5
"2 ® -3
-5 (D) 6 - 1
1. The sum of zeroes of the polynomial 3x2 +5x + 2 will be
5 5
"2 ® -3
-5 (D) 6 _ 1

(C)
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Wi 2x 4 gy, -
ay~lmn3x~sy=7a;,qa-§zﬂga:r€f@m.ﬂﬁawm?

3
(A) “10 5
(B) 10
10
(C) -3
o % !

There Will be no Solution of

the value of g ig the equations 2x+ay=1 and 3x-5y=7 if
3
{A] —1 3 _ Od
10
o 10 6@ 1
FHFO 232 455 44 = g < g \0
@) T sk T 5 @$

(C) AT IR s/ ( & |

The nature of roots of thq e@l 2x2 +5x + 4 =0 will be

(A) - rational and e 906 (B) irrational

o

€ -

w|o

{C] rational an ual () not real 1
o= A 4,%}, .., 254 %1 3 ¥ 10 & w2 Bm
(A) _ B (B) 204

(CQQQQ (D) 214 . 1

10th term froﬁl the end of the A.P. 4,9, 14, ..., 254 will be
(A) 208 _ (B) 204 . -

C 200 | - O 214 | 1

- [ Turn over
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+ | 3% WPl w9 =% T H GE &
. P i g B ®1 W I ? - am
A
2-5 @l
80° _ .
‘B a3uft CE F 9

(A) AABC ~ ADEF (B)  AABC ~ AEFD (o)

(C) AABC ~ AEDF (D) T @ wft < |
5. In the figure, there is a pair of similar trian fts correct symbolic

- expression will be ' 6 .
2:5 cm 05@1 goe \ 6cm
B K C E F

(A) AABC ~ ADEF 6 (B) AABC ~ AEFD

(G AABC ~ AE (D)  All of these 1
6. ﬁi{—a,—j) % gl #nft

o -3 3 B -

© - (D) 6 1
6. i ¢ of the point (- 3, - 4 ) from origin will be

-3 ® -4
) S D) 6 o1
7. A& cotA=2 AR sec 4 w1 ww AM
4
A 7 5
3 . B 7
3
< = . 5 1
S 3

S5000/54
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10.

11,
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5 N

tA
if co 2 then the value of sec A will be
4
v ® 3
4
a =
(C) 5 s I
(D) 3
-‘q-& tana =

o : N\
(C) 60° (B) 45 o

D aQ°
If tana (D) 0

=sino then the valye of a will be
(A) 0°

0»
(B) 45° q

(C) 60° o) o0 6

e 1 I BRI A arge 1043 B I BT B

(A) 30°

- - (B) 453

(C) 60° . (D) o 1
If the ratio of the length of a ro&its shadow is 1:4/3, the elevation
angle of the sun will be

1

() 30° \,%] 450

(€} e0° 9 D) 90°
T 99 F =W & i T AR i Yl 9 den A

A o ’\C B 1

C) 2 % ' (D) 3Fd .
Num&m&llcl tangent lines drawn to the end points of the diameter
on;] will be | .

(A) (B) 1 | |
C 2 _ (Dy infinite _ 1
12 ¥t fiysn 96l w99 & 60° % HIT AN Piewave #1 fawd B

- (A) 18x &*fi? | (B) 20w qfi? |
€ 24 Bt ©) 30x%h7 1

. [ Tumm over
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11. The arca of the sector of a circle whose angle is 6Q°

and radiug 19
N {:n]
will be
(A) 187 cm? (B) 20 cm?
(Q) 24r cm? (D) 307 cm?

|
12. 3w M =1 =amm 4 & @ IEH FAFAH B

&2 B) I g °®

C 3rg3

&
D) =& -
12. 3 6 6® |

If diameter of a sphere is d then its volum@,e

& Zd° (B) §3

@ g \éyo

(A)

wla

T .3
Gd

1
13, rﬁm%@mﬁhﬁx@o |

6 E &% gm

2 .

(A) E‘Erg 60 B) 2nr?
(C) 3nr? o 2

N \ (D}  4nr

Total SE e area of a solid hemispherc with radius r will be

[“0 r? ) (B) 2nr?
gq 3nr? '

(D}  4nr? 1
14, Wmmmm&mﬁm
=
Haua 0-5 | 5-10 [10-15|15-20]|20-25
ST 4 6 5 8 2
{C) 10-15

5000/54 o e |
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15.

16.

16.

17.
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=115 -20|20-25

(C) 10-15 (B) 5-10
1

forel IRERAT TRof (D) 15-20
" T T iy gomrar: 27 31 20 & A TEH FEED M

(A) 28
B) 31 O®

(C) 33
' 1

The mean and median D) 35 0
. _ of a frequency table are 27 ands@9respectively.
Then its mode will be
(A) 28 q
o s B) 3l Q '
(@) (D) 35 1

%1 ALY B

1l S 0-10 [ 10-2 730 | 30 - 40
alill 2 1 4 3

a 21 6 (B) 23 .
60 (D) 26 | )

(C} 25
The mean of @wing pablc -
20-30 | 30-40

Class-int 0-10 | 10-20
Fre _ 2 1 4 3
wi
A) 21 B) 23
(D) 26 : 1
(C) 25 , |
s st # 53 AR 83 s &
' ® =
6 .7
@ 2 1 |
Dy =
2 7
< =
] 4 [ Turn over
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822(HY) ys in @ leap year wil] be

- onda
17.  The probability of 53 M

S
6 ® 7
“ 2
D)
© % ! 1

18, @ fst w1 s 2020 & g3 ! e ;%aﬁmmﬁﬁﬁl

. B) =L
A) s 366 0& .

2
© % 0w Y 1

18. Two friends were born in 2020. Find the prwty that the date of birth
of them will be same.

1 <
(B) 3z - [Bl&é
2 2
@ 365 @QS_GE - 1
19. éﬁﬁaﬁ(zsyaﬂtm,%&@@?ﬁﬂ -
@ 2 6\. B) 3

© 242 D) 2V3 I
19. The dista‘n@'ccn the two points ( 2, 3 ) and ( 4, 1) will be
(A) %\\ . ® 3 o
QY , 2 (D) 2V3 ”‘ ¥
20. 4 amfely wem et |
(A) V25 B) Bl
S )
€ 3 D)  5+42 : !
20. Irrational number in the following wi-ll be
(A) V25 ®) V81
5 | | -
€3 (D) 5+42 | .

3000/54
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822(HY)
9

Qs - g

Section - B

(Elﬂhmm]

( Deacriptive questions )

% ga i

(@) ﬂﬁiﬁ#@'{aﬁwméag- . o 0 TR et
AT T FEn gal HEAl g @“@""
o) 2

(b)
(c)
(d)

©
(0

1. Do all the parts :
(ay” If the diffcrf

[B]/If

: vg
(c) e that .JE is an irrational number. | 2
(d)

o
ot

5000/54

?Jﬁcot2A=ta'n(A_22u],qﬁgﬂnﬁm%ﬁﬁwgw@ﬁm 2
fore AR % V2 @ o i 2 6@ 2
ﬁiﬁzﬁgaamhmqﬁwmﬁﬁq: \

2
1 - A 0-10 | 10-20 g0)30 | 30-40 | 40-50 50-60
TRIAAT 7 5 20 13 7
foama ot 4x2 +9x+5 Ta i } 2
1 Ot = arett 8 At ﬁﬁﬂwlﬁﬁﬁm 2

dwo numbers is 26 and one number be three times

d the numbers. https://www.upboardonline.com 2
cc&:q tan(A—22°), where 24 is an acute angle then find the
A

2

of other

ind the median of the following table : 2

Class-interval 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 7 | 8 S 20 13 7
Find the roots of the quadratic equation 4x% +9%+5=0, 2

ind the volume of a cOpPPer rod of length 8 cm whose diameter
is 1 cm. | | . 2

[ Tum over
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) ERWWWﬁ:Z;qz@lmqﬁaﬂ!ﬁﬂn%mnqﬂmfﬁﬂ
(a) af forell AP

[m+n)qﬁwwmm! . \

m%wmﬁ%ﬁﬁwﬁ?ﬁmwwm%@aﬁ%mm

(b) iwmﬁﬁwmmmhmmmwmm

3 | !
© g (-4,6), et A(- 6 lolaﬂ“gta"g’ﬁ%ﬁ

form e  fifore F R 7 ©
(d) frerfefea s wmofl 8 g% 1A Hif

<Q°
O 4
- | 0-20 | 20-40 | 40-60 | 60-80 & 100-120

ST 6 8 10 12

m%‘fﬂ

6 5 3

(e} feama arfieo 3x2—2£x+2= ' ﬁgﬂaﬁﬁ;{ql
0 8673%11255%:?:0110@ .

(i) 867 7T 255 Wé&miﬁrﬁm - 249

2. Do any five parts :

(a) If the sum of m terms of an A.P. is n and

the sum of first n terms
of the é ,» then find the sum of (m+n) terms,

4
(b) Proye the angle between the tangents drawn from an externa

to a circle is Supplementary to the angle formed by the line

Q ent joining the points of contact of tangents at the centre of the
circle.

4

4, 6) divide the line segment joining
6, lﬁ]andB(S’_S}?

of the followin

0-20 | 20-40 40-60
Frequency 6 8

() In what ratig does the point ( -
the points A (-

@)/ Find the mode

Class-interval

g frequency table :
60-80 | 80-100
10 12 6
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3.

11 .

(¢} Find the rgq
AN ts of .Lh

. e _ 4
{.n {1] Flnd the LCM quadratic ﬂquati.ﬁn 3):2 ._,2‘{6){, +2 0.

(1) Find th °1867 and 255

e HCF .
Prafriaa o (867 and 255 2+2
: ? ﬁ é_Q_ - BO
oc '6“=é-amﬂ3=5avﬁ€raﬁ pC &1 9 1@ Hiel 6
A s5¥ft g

&

_ o 0.00
T D

ﬁlﬁﬁﬁﬂﬁmﬁﬁmwﬁgﬁ@%ﬁnﬁ$\;@tw@?ﬁﬁ| 6

AO _BO _1 Q
U 5c6=0D " 2 and AB = 5 cm 1{@ ollowing figure, then find the
6

value of DC.

v
CIin B

| ® D c
& or
at the - tangents drawn from an external point to a circle are equal.
: 6

_ 1
A-cosA)=r A cotA” 6

4. mﬁﬁﬁq% (cgsecﬂ-—-siﬂA][s‘cc
sraat
' : v 30° 31 I 7HFE
. ’_#ﬁ@(ﬁﬁam%ﬁlﬁtﬁlaw

J?gﬁ:;:ﬂmﬁmmﬁmﬁlmﬁmmmﬁmﬁ@

it ‘ : 6

™ | [ Turn over
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1
~CosA)= :
PI‘OVE that (cosec A-sinA }(SEC A-cos ) tan A+ cot A

OR
The angle of elevation of the top of a tower from the to
height is 15 metre is 30°. Also the angle of elevatio
tower from the ground of the same house is 60°,
the tower and the distance of the tower from the h

P of a house Whoge
n of the top of the

Then find the height o
ouse.

6
5. T 3w ug ¥ aew ¥ oHl R AR g e gopd 19 ¥ 3
T I H w7 3 A W A H AR 3“T‘ﬁwaq'¢&<. * g H oy
4-5Um ) E:(:!> 6
@
15%%@3@@@@%@@ ﬂwﬁwaﬁﬁaﬁﬁﬁ_%l o
T 9 QS H1 6w 10 BT (1 2 V3 =1.73) 6
S. Both the ends of g metallic*cylinder are semi-spherical. Itg total
height is 19 ¢m and diw the cylinder is 7 cm. Find the weight of
the solid if weight of %3, the metal is 4-5 g 6
Q - OR
A chord of a cirbu radius 15 ¢m subtends an angle of 60° at the centre
of the cij O‘ind the area of the corresponding mingr segment,
(n=3 =1.73) &
Q %
8 3,28,000 5

5000/
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